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who have opted for Hindi Medium. If a candidate has not opted for Hindi Medium,
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'SECTION - A

Question No. 1 is compulsory.
Answer any five questions from the rest.

Marks - 50
Marks

1. Answer all the following questions briefly : _ %5
(a) What are device drivers ? Name any two devices that require drivers, =10
(b) Define “Bit” and “Byte”. '
(c) What is the difference between backup and recovery ?

(d) What are the functions of Transport Layer and Internet Layer in
Transmission Control Protocol/Internet Protocol (TCP/P) ?

() What is the difference between Integrity and Authenticity with
reference to E-Commerce ? : :

2. (@) Describe any four benefits of database management solution for an 4
organization.

(b) Explain in brief the following features of an Operating System : 4
(1) Multi programming
(i) Multi processing
(iif) Multi tasking
(iv) Multi threading
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What is a ‘threat’ ? Explain any three types of Network Security threat ?
What do you mean by distributed database ? Also briefly explain the
two methodologies of distribution of a database.

Describe briefly any four features of Application Servers.
List the two advantages and two disadvantages of 3 tier architecture.

Explain the following with regard to Internet connection :
(i) SDSL connection
(ii) Satellite connection

Explain step by step online transaction processing in an e-commerce
environment.

A Housing Society in a newly developed Smart City has provided several
- advanced security systems to each house in that city. Based on the value of
these advanced security systems installed in each house, the Society has
divided all the houses in four categories and fixed the criteria for annual
maintenance charges as under :

In addition to above there is a service tax @ 12.36% on the amount of

House Category Maintenance charges as % of value of -
advanced security systems installed at house
A 8%
B 6%
C 4%
D | 3%

maintenance charges. Considering house number and value of advanced
security system installed, as input, draw a flow chart to have printed cutput
as house number, maintenance charges, service tax and the total amount to be
paid by each house owner.

(a)
(b)
(c)
(d)
(e

.~ Write short notes on any four of the following :

Firewall

Data Mining

VoIP

Object Oriented Programming (OOP)

Front End Communication Processors
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SECTION - B

Question No. 8 is compulsory.
Answer any five questions from the rest.
‘ " Marks - 50

Mission statement of a company focuses on the question : 3
‘Who we are’ and ‘What we do’. Explain briefly.

State the factors of human resource that influence on employees 3

competence.

Assume that you are an entrepreneur who has an intense desire to get 3
into the business. What types of information relating to macro
environment would you need to determine external opportunities and
threats ? | |

What does corporate strategy ensure ? Explain. : 3
Briefly describe the impact of corporate culture on an organization. 3
State with reasons which of the following statements are cotrect or 2x2

incorr_ect. =4
(i)  Stability strategy is not a "do-nothing’ strategy.
(ii) Six sigma efforts target following main areas :
(x) Improving customer satisfaction.
(¥) Reducing wastage
(z) Reducing defects
What are the major stages in the strategic management process ? 3
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What is the rationale behind Business Process Reengineering (BPR) ? What

steps would you recommend to implement BPR in an organization ?

(a) Discuss the leadership role played by the managers in pushing for good
strategy execution.

(b) What do you understand by functional structure ?

(@) How would you argue that modern enterprises pursue ‘multiple

objectives and not a single objective ?

(b) Explain the significance of SWOT analysis.

Distinguish between the following :
(@) Cost Leadership and Differentiation Strategies

(b) Social Marketing and Service Marketing

Write short notes on the following :
(a) Experience Curve |
(b) Production System

OR

Characteristics of Strategic Business Unit (SBU)
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PAPER -7 : INFORMATION TECHNOLOGY AND STRATEGIC MANAGEMENT
SECTION - A : INFORMATION TECHNOLOGY
Question No. 1 is compulsory
Answer any five questions from the rest.
Question 1
Answer all the following questions briefly:
(a) What are device drivers? Name any two devices that require drivers.
(b) Define "Bit" and "Byte”.
(c) What is the difference between backup and recovery?

(d) What are the functions of Transport Layer and Internet Layer in Transmission Control
Protocol/Internet Protocol (TCP/IP)?

(e) What is the difference between Integrity and Authenticity with reference to E-Commerce?
(2 x 5=10 Marks)
Answer

(a) Device Drivers: Device drivers are small files that act as interfaces between hardware in
a computer system and the Operating System (OS). Hardware requires device drivers so
that the OS can “see” the devices and handle them effectively and efficiently.

The common devices that require drivers include:
e  Keyboards;

o Mice;

o  Controllers;

e  Graphics cards;

o  Audio hardware;

e  Ethernet hardware;
o  Wireless cards;

e Ports;

o  Card readers;

e Card slots and

e CD/DVD drives.

(b) Bit: Bit is defined as the smallest basic unit of storage in the computer memory that is an
abbreviation of binary digit 0 or 1.
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PAPER - 7: INFORMATION TECHNOLOGY AND STRATEGIC MANAGEMENT 41

Byte: A byte is a basic grouping of 8 bits that the computer operates on as a single unit
and is used to represent a character by the American Standard Code of Information
Interchange (ASCIl) and Extended BCD Interchange Code (EBCDIC) systems.

(¢) Backup: Backup is a utility program used to make a copy of the contents of database
files and log files. The database files consist of a database root file, log file, mirror log
file, and other database files called “dbspaces’.

Recovery: Recovery is a sequence of tasks performed to restore a database at some
point-in-time. It is performed when either hardware such as a disk drive/controller card
failure or media failure like unexpected database error while data processing occurs.

(d) Transport Layer: The Transport Layer in TCP/IP provides end-to-end communication
between applications and verifies correct packet arrival.

Internet Layer: The Internet Layer in TCP/IP provides packet routing for error checking
and addressing and integrity.

(e) With reference to E-commerce -

Integrity is defined as the ability to ensure that information being displayed on a web site
or transmitted or received over the internet has not been altered in any way by an
unauthorized party.

Authenticity is the ability to identify the identity of a person or entity with whom we are
dealing in the internet.

Question 2
(a) Describe any four benefits of database management solution for an organization.

(4 Marks)
(b) Explain in brief the following features of an Operating System:
(i)  Multi programming
(i) Multi processing
(iii)) Multi tasking
(iv) Multi threading (4 Marks)

Answer
(a) The benefits of DBMS solution for an organization are as follows:
(i) It reduces data redundancy and inconsistency.
ii) It enhances data integrity and security.
i) It provides logical and physical data independence.
iv) It provides application data independence.
v) It reduces complexity of the organization’s Information System environment.
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42 INTERMEDIATE (IPC) EXAMINATION: MAY, 2014

vi) It provides faster data accessibility and improved data sharing.

i
vii) It increases productivity of application development.
viii) It provides low cost of developing and maintaining system.

ix) It provides systematic storage of data in the form of table.

>

) It provides multiple simultaneous usages by good number of users.
xi) Different privileges can be given to different users.

Xii) It provides backup & recovery.

(
(
(
(
(
(
(
(

(b) () Multi programming: Multi programming is defined as an execution of two or more
programs that all reside in primary storage. Since the CPU can execute only one
instruction at a time, it cannot simultaneously execute instructions from two or more
programs. The purpose of multiprogramming is to increase the utilization of the

computer system as a whole.

(i) Multi processing: Multi processing (or parallel processing) refers to the use of two
or more central processing units, linked together, to perform coordinated work
simultaneously.

(i) Multi tasking: Multi tasking refers to the operating system’s ability to execute two
or more of a single user’s tasks concurrently.

(iv) Multi threading: Multi threading allows a process to keep running even if some
threads within the process are stalled, working on a lengthy task, or awaiting user
interaction, thus improve the performance of processing the task.

Question 3

(a) What is a 'threat'? Explain any three types of Network Security threat? (4 Marks)

(b) What do you mean by distributed database? Also briefly explain the two methodologies
of distribution of a database. (4 Marks)

Answer

(a) Threat: A threat is anything that can disrupt the operation, functioning, confidentiality,
integrity, or availability of a network or system.

Network security threats can be categorized into four broad themes:

o Unstructured threats - These originate mostly from inexperienced individuals using
easily available hacking tools from the Internet. These tools include port-scanning
tools, address-sweeping tools, and many others.

e  Structured threats - These originate from individuals who are highly motivated and
technically competent and usually understand network systems design and the
vulnerabilities of those systems. An individual who presents a structured threat
typically targets a specific destination or group.
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o  External threats - These originate from individuals or organizations working outside
an organization, which does not have authorized access to organization’s computer
systems or network. They usually work their way into a network from the Internet or
Dialup Access servers.

o Internal threats - These threats originate from individuals who have authorized
access to the network. These users either have an account on a server or physical
access to the network. An internal threat may come from a discontented former or
current employee or contractor.

(b) Distributed Database: An organization may require decentralizing its database by
scattering it with computing resources to several locations so that running of applications
programs and data processing are performed at more than one site. This refers to
Distributed Database and its processing facilitate savings in time and costs by concurrent
running of application programs at various sites. When processing is distributed, the
database needs to be distributed fully or partly, depending on the organizational
requirements.

There are two methodologies of distribution of a database which are given as under:

e Replicated Database: In this, duplicates of data are provided to the sites so that
the sites can have frequent access to the same data concurrently. But this method
of replication is costly in terms of system resources and also maintaining the
consistency of the data elements.

o Partitioned Database: In this, a database is divided into parts or segments that are
required and appropriate for the respective sites so that only those segments are
distributed without costly replication of the entire data.

Question 4

(a) Describe briefly any four features of Application Servers.

(b) List the two advantages and two disadvantages of 3 tier architecture.
Answer

(a) Features of the Application Servers are as follows:

o  Component Management: This provides the manager with tools for handling all the
components and runtime services like session management, and synchronous/
asynchronous client notifications, as well as executing server business logic.

o Fault Tolerance: It is an ability of an application server with no single point of
failure, defining policies for recovery and fail-over recovery in case of failure of one
object or group of objects.

e Load Balancing: It is the capability to send the request to different servers
depending on the load and availability of the server.
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o Transaction Management: It is an ability to process one or more logical unit of
work requested by the client. The server ensures that the transaction processes
completely.

e Management Console: It refers to the single point graphical management console
for remotely monitoring clients and server clusters.

o Security: The accessibility of data and application is restricted through user
authentication at first tier of application server for security measures.

(b) Advantages of three-tier architecture are as follows:

o Clear separation of user-interface-control and data presentation from
application logic: Through this separation, more clients are able to have access to
a wide variety of server applications. The two main advantages for client-
applications are quicker development through the reuse of pre-built business-logic
components and a shorter test phase.

¢ Dynamic load balancing: If bottlenecks in terms of performance occur, the server
process can be moved to other servers at runtime.

¢ Change management: It is easy and faster to exchange a component on the server
than to furnish numerous PCs with new program versions.

Disadvantages of three-tier architecture are as follows:

e Creates an increased need for network traffic management, server load balancing,
and fault tolerance.

e  Current tools are relatively immature and are more complex.

e  Maintenance tools are currently inadequate for maintaining server libraries. This is a
potential obstacle for simplifying maintenance and promoting code reuse throughout
the organization.

Question 5

(a) Explain the following with regard to Internet connection:
(i)  SDSL connection

(i) Satellite connection (4 Marks)
(b) Explain step by step online transaction processing in an e-commerce environment.
(4 Marks)
Answer

(a) SDSL Connection: Symmetric Digital Subscriber Line (SDSL) is a technology that allows
more data to be sent over existing copper telephone lines. Symmetric Digital Subscriber
Line (SDSL) works by sending digital pulses in the high-frequency area of telephone
wires and cannot operate simultaneously with voice connections over the same wires. It
requires a special SDSL modem and supports data rates up to 3 Mbps. It is called
symmetric because it supports the same data rates for upstream and downstream ftraffic.
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Satellite Connection: Internet over Satellite (10S) allows a user to access the Internet
via a satellite that orbits the earth. A satellite is placed at a static point above the earth's
surface, in a fixed position. Because of the enormous distances signals must travel from
the earth up to the satellite and back again, 10S is slightly slower than high-speed
terrestrial connections over copper or fiber optic cables.

Following is a step by step online transaction processing in an e-commerce environment:

(i)

(ii

(vi)

Order Placed: Customer places order through secure connection on website, or
merchant manually keys in transaction.

Authorization Request: Payment Gateway receives the transaction through the secure
internet connection, encrypts it, and submits an authorization to the credit card issuing
bank.

Authorization Response: Credit card issuing bank either approves or declines the
request and sends a response back through the payment gateway to the website.

Order Fulfilled: Once approved the merchant processes and ships the customer's
order.

Settlement Request: The Payment Gateway sends a settlement request to the
merchant account provider each day that transactions are processed.

Settlement Deposited: The merchant account provider deposits the amount for
each settlement into the merchant's bank account that usually takes 24 - 48 hours.

Question 6

A Housing Society in a newly developed Smart City has provided several advanced security
systems to each house in that city. Based on the value of these advanced security systems
installed in each house, the Society has divided all the houses in four categories and fixed the
criteria for annual maintenance charges as under:

Maintenance charges as % of value of advanced security
House Category .
systems installed at house
A 8%
B 6%
C 4%
D 3%

In addition to above there is a service tax @ 12.36% on the amount of maintenance charges.
Considering house number and value of advanced security system installed, as input, draw a
flow chart to have printed output as house number, maintenance charges, service tax and the
fotal amount to be paid by each house owner.
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Answer
Let us define the variables first;

HNO: House Number HC: House Category
VAL_ASS: Value of Advanced Security Systems MC: Maintenance Charges
ST: Service Tax TA: Total Amount

The desired flowchart is given as follows:

Read HNO, VAL ASS < Q
A

MC =0.08 * VAL_ASS

No
@ Ves| MC=0.06* VAL_ASS
@ YeSy! MC = 0.04 * VAL_ASS >

MC =0.03 * VAL_ASS

\ 4

<
)l

ST=0.1236 * MC
TA=MC + ST

v

Print HNO. MC. ST. TA

Yes
ore HNO? @
No

) 4
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Question 7

Write short notes on any four of the following:
(a) Firewall

(b) Data Mining

(c) VolP

(d) Object Oriented Programming (OOP)

(e) Front End Communication Processors: (2 x 4 = 8 Marks)
Answer 7

(a) Firewall: Firewall is a system which controls the flow of traffic between the Internet and
the firm’s internal LANs and systems. They are usually packaged as turnkey
hardware/software packages and are set up to enforce the specific security policies that
are desired. A firewall is a proven, effective means of protecting the firm’s internal
resources from unwanted intrusion.

(b) Data Mining: The process of recognizing patterns among data contained in a data
warehouse or a data mart is called a process of Data Mining. Data mining tools are
software that allows users to perform detailed mathematical and statistical calculations
on detailed data warehouse data to detect trends, identify patterns and analyze data.
Data Mining is responsible for finding the patterns by identifying the underlying rules and
features in the data and picking out relevant information. Examples of Data mining
Software’s are SPSS, SAS, Think Analytics and G-Stat etc.

(¢) VolP: Voice over Internet Protocol (VolP) commonly refers to the communication
protocols, technologies, methodologies, and transmission techniques involved in the
delivery of voice communications and multimedia sessions over Internet Protocol (IP)
networks, such as the Internet. Other terms commonly associated with VolP are IP
telephony, Internet telephony, Voice over BroadBand (VoBB), broadband telephony, and
broadband phone. This allows delivery of voice communications over IP networks, for
example, phone calls.

(d) OOP: In Object-Oriented Programming (OOP), objects are combined and small amount
of code is written instead of writing a program line by line. The advantages of OOP are its
graphical interface; ease of use; faster program development; enhanced programmer
productivity and more reliable programs that contain fewer errors. The disadvantages of
OOP are its steep initial development costs; more extensive start-up time and power PCs
and workstations requirement. Some common object-oriented languages are small talk,
C++, Visual Basic and Java.
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(e) Front End Communication Processors: These are programmable devices which
control the functions of communication system. They support the operations of a
mainframe computer by performing functions, which it would otherwise be required to
perform itself. These functions include code conversions, editing and verification of data,
terminal recognition and control of transmission lines. The mainframe computer is then
able to devote its time to data processing rather than data transmission.
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SECTION-B
Question No. 8 is compulsory
Answer any five questions from the rest
Question 8
(a) Mission statement of a company focuses on the question:
‘Who we are’ and ‘What we do’. Explain briefly. (3 Marks)
(b) State the factors of human resource that influence on employees competence. (3 Marks)

(c) Assume that you are an entrepreneur who has an intense desire to get into the business.
What types of information relating to macro environment would you need to determine

external opportunities and threats? (3 Marks)
(d) What does corporate strategy ensure? Explain. (3 Marks)
(e) Briefly describe the impact of corporate culture on an organization. (3 Marks)
Answer

(a) A company’s mission statement is typically focused on its present business scope —
‘who we are and what we do”; mission statements broadly describe an organizations
present capabilities, customer focus activities and business makeup. An organisation’s
mission states what customers it serves, what need it satisfies, and what type of product
it offers. It is an expression of the growth ambition of the organisation. It helps
organisation to set its own special identity, business emphasis and path for development.
Mission amplifies what brings the firm to this business or why it is there, what existence it
seeks and what purpose it seeks to achieve as a business firm.

In other words, the mission serves as a justification for the firm's very presence and
existence; it legitimizes the firm's presence.

(b) Human resource management has been accepted as a strategic partner in the
formulation of organization’s strategies and in the implementation of such strategies
through human resource planning, employment, training, appraisal and reward systems.
The following points should be kept in mind as they can have a strong influence on
employee competence:

i.  Recruitment and selection: The workforce will be more competent if a firm can
successfully identify, attract, and select highly competent applicants.

ii. Training: The workforce will be more competent if employees are well trained to
perform their jobs properly.

iii. Appraisal of performance: The performance appraisal is to identify any performance
deficiencies experienced by employees due to lack of competence. Such
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50 INTERMEDIATE (IPC) EXAMINATION: MAY, 2014

deficiencies, once identified, can often be solved through counselling, coaching or
training.

iv. Compensation: A firm can usually increase the competency of its workforce by
offering pay, benefits and rewards that are not only attractive than those of their
competitors but also recognizes merit.

(¢) Macro environment mainly consists of economic, technological, political, legal and socio-
cultural elements. For an entrepreneur it is important to identify those factors that are
likely to affect the new business. Each of the elements can have a bearing on the
opportunities and the threats.

Particularly, he should scan the relevant changes that have happened in recent past that
can provide competitive edge. For example, a technological innovation in the production
process can be opportunity. Incentives such as cheaper land, tax free periods can be
other form of opportunities. Entrepreneur has to identify such opportunities that can be
capitalized to enter markets or provide an edge over the competitors. Entrepreneur has
to also take care as these opportunities can also act as threats when competitors are
able to exploit them.

(d) Corporate strategy in the first place ensures the growth of the firm and ensures the
correct alignment of the firm with its environment. It serves as the design for filling the
strategic planning gap. It also helps build the relevant competitive advantages. It works
out the right fit between the firm and its external environment. Basically the purpose of
corporate strategy is to harness the opportunities available in the environment,
countering the threats embedded therein.

Corporate strategy brings methodical responses to the environment. Strategy is the
opposite of adhoc responses to the changes in the environment in competition, consumer
tastes, technology and other variables. It amounts to long-term, well thought-out and
prepared responses to the various environment forces.

(e) Corporate culture refers to values, beliefs, business principles, traditions, ways of
operating, and internal work environment. An organization’s culture is either an important
contributor or an obstacle to successful strategy execution. The beliefs, vision,
objectives, business approaches and practices underpinning a company's strategy may
be compatible with its culture or not. When they are, the culture becomes a valuable ally
in strategy implementation and execution. When the culture is in conflict with some
aspect of the company's direction, performance targets or strategy, the culture becomes
a stumbling block that impedes successful strategy implementation and execution.

A culture grounded in values, practices, and behavioural norms that match what is
needed for good strategy execution helps energize people throughout the company to do
their jobs in a strategy-supportive manner, adding significantly to the power and
effectiveness of strategy execution.
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Question 9

(a) State with reasons which of the following statements are correct or Incorrect.

(1)
(i)

Stability strategy is not a 'do-nothing' strategy.

Six sigma efforts target following main areas:

(x) Improving customer satisfaction.

(v) Reducing wastage

(z) Reducing defects (2 x 2 = 4 Marks)

(b) What are the major stages in the strategic management process? (3 Marks)

Answer

(a)

(b)

(1)

Correct: Stability strategies are implemented by approaches wherein few functional
changes are made in the products or markets. It is not a ‘do nothing’ strategy. It
involves keeping track of new developments to ensure that the strategy continues to
make sense. This strategy is typical for mature business organizations. Some small
organizations will also frequently use stability as a strategic focus to maintain
comfortable market or profit position.

Correct: Primarily Six Sigma means maintenance of the desired quality in
processes and end products. It is a highly disciplined process that helps in
developing and delivering near-perfect products and services. Improvements in
these areas usually represent dramatic cost savings to businesses, as well as
opportunities to retain customers, capture new markets, and build a reputation for
top performing products and services.

The major stages in the strategic management process are:

(1)

(if)
(i)
(iv)
(v)
(vi)

(vii)

Develop vision and mission statements

Perform internal and external audit

Establish long-term objectives

Generate, evaluate, and select strategies

Implement strategies considering management issues

Implement strategies marketing, finance, accounting, R&D, MIS issues

Measure and evaluate performance

Question 10

What is the rationale behind Business Process Reengineering (BPR)? What steps would you
recommend to implement BPR in an organization? (7 Marks)
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Answer

Business Process Reengineering (BPR) is an approach to unusual improvement in operating
effectiveness through the redesigning of critical business processes and supporting business
systems. It is revolutionary redesign of key business processes that involves examination of
the basic process itself.

It looks at the minute details of the process, such as why the work is done, who does it, where is it
done and when it is done. BPR refers to the analysis and redesign of workflows and processes
both within the organization and between the organization and the external entities like suppliers,
distributors, and service providers. The orientation of redesigning efforts is basically radical. In
other words, it is a total deconstruction and rethinking of business process in its entirety.

BPR involves the following steps:

i.  Determining objectives and framework: Objectives are the desired end results of the
redesign process which the management and organization attempts to achieve. This will
provide the required focus, direction, and motivation for the redesign process.

ii. Identify customers and determine their needs: The designers have to understand
customers — their profile, their steps in acquiring, using and disposing a product. The
purpose is to redesign business process that clearly provides added value to the
customer.

ii. Study the existing process: The existing processes will provide an important base for
the redesigners. The purpose is to gain an understanding of the ‘what’, and ‘why’ of the
targeted process. However, some companies go through the reengineering process with
clean perspective without laying emphasis on the past processes.

iv. Formulate a redesign process plan: Formulation of redesign plan is the real crux of the
reengineering efforts. Customer focused redesign concepts are identified and formulated.
Alternative processes are considered and the optimum is selected.

v. Implement the redesign: It is easier to formulate new process than to implement them.
It is the joint responsibility of the designers and management to operationalise the new
processes.

Question 11

(a) Discuss the leadership role played by the managers in pushing for good strategy execution.
(4 Marks)

(b) What do you understand by functional structure? (3 Marks)

Answer

(a) A strategy manager has many different leadership roles to play: visionary, chief
entrepreneur and strategist, chief administrator, culture builder, resource acquirer and
allocator, capabilities builder, process integrator, crisis solver, spokesperson, negotiator,
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motivator, arbitrator, policy maker, policy enforcer, and head cheerleader. Managers
have five leadership roles to play in pushing for good strategy execution:

1. Staying on top of what is happening, closely monitoring progress, working through
issues and obstacles.

2. Promoting a culture that mobilizes and energizes organizational members to
execute strategy and perform at a high level.

3. Keeping the organization responsive to changing conditions, alert for new
opportunities and remain ahead of rivals in developing competitively valuable
competencies and capabilities.

4.  Ethical leadership and insisting that the organization conduct its affairs like a model
corporate citizen.

5. Pushing corrective actions to improve strategy execution and overall strategic
performance.

(b) Functional structure is widely used because of its simplicity and low cost. A functional
structure groups tasks and activities by business function.

The functional structure consists of a chief executive officer or a managing director and
limited corporate staff with functional line managers in dominant functions such as
production, accounting, marketing, R&D, engineering, and human resources.
Disadvantages of a functional structure are that it forces accountability to the top,
minimizes career development opportunities, etc.

Question 12

(a) How would you argue that modem enterprises pursue multiple objectives and not a single
objective? (4 Marks)

(b) Explain the significance of SWOT analysis. (3 Marks)

Answer

(a) Objectives are organizations performance targets — the results and outcomes it wants to
achieve. They function as yardstick for tracking an organizations performance and
progress.

Today, organizations are capable of achieving multiple objectives and they focus on
different objectives rather than a single objective. In general, we may identify a set of
business objectives being pursued by the business. These may relate to profitability,
productive efficiency, growth, technological dynamism, stability, self-reliance, survival,
competitive strength, customer service, financial solvency, product quality, diversification,
employee satisfaction and welfare, and so on. Organizations need to balance these
objectives in an appropriate manner.

(b) An important component of strategic thinking requires the generation of a series of
strategic alternatives, or choices of future strategies to pursue, given the company's
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internal strengths and weaknesses and its external opportunities and threats. The
comparison of strengths, weaknesses, opportunities, and threats is normally referred to
as SWOT analysis. SWOT analysis helps managers to craft business model that will
allow a company to gain a competitive advantage. Key reasons for SWOT analyses are:

¢ |t provides a logical framework for systematic identification of issues having bearing
on the business situation, generation of alternative strategies and the choice of a
strategy.

¢ It presents a comparative account of both external and internal environment in a
structured form where it is possible to compare external opportunities and threats
with internal strengths and weaknesses.

¢ |t guides the strategist in strategy identification. It guides the strategist to think of
overall position of the organization that helps to identify the major purpose of the
strategy under focus.

Question 13
Distinguish between the following:

(a) Cost Leadership and Differentiation Strategies (4 Marks)
(b) Social Marketing and Service Marketing (3 Marks)
Answer

(a) According to Porter, strategies allow organizations to gain competitive advantage from
three different bases: cost leadership, differentiation, and focus. Cost leadership
emphasizes producing standardized products at a very low per-unit cost for consumers
who are price-sensitive. Differentiation is a strategy aimed at producing products and
services considered unique industry wide and directed at consumers who are relatively
price-insensitive.

A primary reason for pursuing forward, backward, and horizontal integration strategies is
to gain cost leadership benefits. But cost leadership generally must be pursued in
conjunction with differentiation. Different strategies offer different degrees of
differentiation. A differentiation strategy should be pursued only after a careful study of
buyers’ needs and preferences to determine the feasibility of incorporating one or more
differentiating features into a unique product. A successful differentiation strategy allows
a firm to charge a higher price for its product and to gain customer loyalty.

(b) Social Marketing and Service Marketing are marketing strategies primarily with different
orientations. Social Marketing refers to the design, implementation, and control of
programs seeking to increase the acceptability of a social ideas, cause, or practice
among a target group. For instance, the publicity campaign for prohibition of smoking or
encouraging girl child, etc.

On the other hand, service marketing is applying the concepts, tools, and techniques, of
marketing to services. Service is any activity or benefit that one party can offer to another

© The Institute of Chartered Accountants of India



PAPER - 7: INFORMATION TECHNOLOGY AND STRATEGIC MANAGEMENT 55

that is essentially intangible and non-perishing. These may be from business to
consumer and from business to business.

Question 14

Write short notes on the following:

(a) Experience Curve (4 Marks)

(b) Production System (3 Marks)
OR

Characteristics of Strategic Business Unit (SBU) (3 Marks)

Answer

(a) Experience curve is similar to learning curve which explains the efficiency gained by
workers through repetitive productive work. Experience curve is based on the commonly
observed phenomenon that unit costs decline as a firm accumulates experience in terms
of a cumulative volume of production.

The implication is that larger firms in an industry would tend to have lower unit costs as
compared to those of smaller organizations, thereby gaining a competitive cost
advantage. Experience curve results from a variety of factors such as learning effects,
economies of scale, product redesign and technological improvements in production.

(b) Production System is concerned with the capacity, location, layout, product or service
design, work systems, degree of automation, extent of vertical integration, and such
factors. Strategies related to production system are significant as they deal with vital
issues affecting the capability of the organisation to achieve its objectives.

Strategy implementation would have to take into account the production system factors
as they involve decisions which are long-term in nature and influence not only the
operations capability of an organisation but also its ability to implement strategies and
achieve objectives.

or

Strategic Business Unit (SBU) is a unit of the company that has a separate mission and
objectives and which can be planned independently from other businesses of the
orgnanisation. The three most important characteristics of SBU are:

¢ ltis a single business or a collection of related businesses which offer scope for
independent planning and which might feasibly stand alone from the rest of the
organization.

+ Has its own set of competitors.

+ Has a manager who has responsibility for strategic planning and profit performance.
He has control of profit-influencing factors.
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